FERRTIEHARER (BHE) ([FERRTERE~SMIFEIAI1BET

IH 3P (R &6 M) FHERT (EJE£RTR) fii %
‘HOHF—TH 4145 FHh s HOHF—TH 2 F 1 5 [4145% . 4145%200—H1
BOHR—TH 4192 FH 3l BOHF—TH 17 F 1 5 14192752
BOHR—TH 4192 FH 9 HOHK—TH 8 F 5 Zl
HOHR—TH 4192 FHL 12 HOoHF—~TH 8 F 22 =
BoH—TH 4192 FHh - 38 HOHF—TH 10 F 19 =l
‘HOHE—TH 4193 i - 5 HOHZ—TH 9 F 3 =
BoHF—TH 4193 FH 11 HOHF—TH 10 F 30 =l
HOHR—TH 4193 FH - 14 il BEOHF—TH 11 F 2 5 14193718
HOH —TH 4207 FH 9 HOHF—TH 8 F 17 2
HOHR—TH 4207 FHL 18 i BO/R—TH 10 F 10 5 4207219
BOHR—TH 4207 FHh - 27 BEOHF—TH 6 F 11 Zl
HoHR—TH 4210 FHh - 3 HOHF—TH T F 10 =2
HOH—TH 4210 FH - 6 HOHF—TH 7 F 15 2
HO/KTTH 4210 ZHHL - 46 HOHZTH 9 F 15 2
HOHRTH 4210 FMh 57 HOHZ_TH 10 F 2 =2
HOHR_TH 4210 K 75 HO/RZTH 12 F T 3=
HOHRTH 4210 Fh 77 HEOHZ_TH 12 F 5 =2
HOHR_TH 4210 K 78 HO/RZTH 12 F 4 =2
HOHRTH 4213 FH 4 HOH_TH 8 F 6 =2
HOHZRTH 4289 i - 16 HO/ZTH 2 & 13 =2
HOHZRZTH 4289 T - 40 HOHRTTH 16 F 6 =
HOHR_TH 4289 FHh 55 HOHRTH 156 F 7 Zl
HOHZRZTH 4289 i 58 HO/RTTH 15 F 3 =
HOHR_TH 4289 FHh - 72 EO/RTH 15 F 22 Zl
HOHRZTH 4289 - 74 HOHRTTH 15 F 20 =
HOHR_TH 4289 FHHh - 76 EO/RTH 15 F 18 Zl
HOHZRTH 4289 i 95 HOH/RTTH 5 F 20 =
HORTH 4289 FHh 113 HOHF_TH 13 &E 6 Z
HORTH 4289 124 HO/HTTH 13 F 16 =




FERRTIEHARER (BHE) ([FERRTERE~SMIFEIAI1BET

IH{ AT (FH 6 H) BERT (EEFR) {5
BOHR_TH 4296 FH 4 HOHF_TH 5 F I8 2
HO/TH 1296 K 11 BEO/TH 5 F 17 5
FHRE—TH 3331 FH 47 FRE—TH 4 #F 16 l
FHRE—TH 3331 FHL - 69 EIRK—TH 5 F 18 5
FHRE—TH 3343 FHL 16 FRE—TH 4 F 22 El
FHRE—TH 3555 FHHL - 3 ERW—TH 3 F 4 5
FHRE—TH 3555 L 9 FoRE—TH 3 F 24 l
FHRE—TH 3829 FHL 20 FEIRK—TH 15 F 16 5
FRE—TH 3829 FHHh - 22 FORE—TH 13 F 22 2
FhE—TH 3829 FH 24 FoRR—TH 15 & 4 22
FRE—TH 3829 FHHh - 34 FERK—TH 14 F 1 2
EHH—TH 3829 &M - 35 R -TH 14 & 2 5
FRE—TH 3829 FHHh - 37 FRK—TH 14 3F 4 2
EHH—TH 3829 &M 38 ERW-TH 14 & 5 5
FRE—TH 3829 FHHL - 43 FRE—TH 13 F 14 2
FoRR—TH 3829 FHHh - 44 FoRR—TH 13 & 15 22
FRE—TH 3832 & - 102 EHRK—TH 11 F 5 2
EHHK—TH 3832 &M - 103 ERE—-TH 11 & T 5
FRE—TH 3845 FHHL - 1l FRE—TH 17 #F 13 5 1384671
FoRR—TH 3852 i FoRR—TH 17 & 7 22
SHKTH 3331 FHh - 21 ERETTH 2 & 1 2
FRKZTH 3331 &M 86 TR TH 3 F 11 )
SHKTH 3331 #FHh - 102 ERETTH 1 % 3 2
EARK=TH 2788 Hhi - 5 FRIK=TH 21 % 10 5 |2788% 13
ERE=TH 2788 /i - 6 i EREZTH 21 & 9 5 |2788%12
FRR=TH 2788 FHh - 7 FRE=TH 21 #F 7 a
ERE=TH 2788 i - 8 EREZTH 21 % 6 =
FRR=TH 2788 i - 9 FRE=TH 21 %F 5 2
ERE=TH 2788 Fih - 10 ERE=ZTH 21 & 4 2




FERRTIEHARER (BHE) ([FERRTERE~SMIFEIAI1BET

IH{ AT (FH 6 H) BERT (EEFR) {5
FRR=TH 2788 FHh - 11 FRE=TH 21 %F 2 2
ERE=TH 2800 FHt 9 ERE=ZTH 5 & 4 =
FRR=TH 2800 FHL 10 FRE=TH 5 #F 6 l
EHRE=TH 2800 FHr 11 EHRE=ZTH 5 % 8 2
FRR=TH 2800 FHt 12 FORE=TH 5 #F 29 El
ERE=TH 2800 FHHh 13 EHRE=ZTH 5 & 28 2
FRR=TH 2800 FHL 14 FORE=TH 5 #F 27 l
EHRE=TH 2800 FHh 15 FRE=ZTH 5 & 12 2
FRE=TH 2800 FH1L 16 SORE=TH 5 F 11 2
EHRK=TH 2800 FHr 17 FRK=TH 5 F 9 5
FRE=TH 2800 FHFHL 18 FORE=TH 5 #F 16 2
EHRKETH 2800 &M 19 FHRK=TH 5 F 15 5
FRE=TH 2800 FH1L 20 SORE=TH 5 F 14 2
EHRKETH 2804 i - 16 ERWETH 4 & 20 5
FORR=TH 2826 & - 235 FRE=TH 9 F 7 2
EHRK=TH 2826 FHh - 236 FRK=TH 9 % 6 5
FORR=TH 2826 & 237 FRE=TH 9 F 4 2
EHRK=TH 2826 FH - 238 FRK=TH 9 F 3 5
FORR=TH 2826 & - 239 FRE=TH 9 F 2 2
EHRK=TH 2826 FH 240 ERW=TH 10 & 18 5
ERE=TH 2826 FHih - 241 EREZTH 10 % 2 2
EARK=TH 2826 FH - 242 FRK=TH 10 % 3 )
ERE=TH 2826 i - 243 EREZTH 10 & 4 2
EARK=TH 2826 FH 244 FRWK=TH 10 % 5 )
ERE=TH 2826 i - 245 EREZTH 10 & 7 =
EARK=TH 2826 FEH 246 FRK=TH 10 % 8 )
ERE=TH 2826 i 247 EREZTH 10 & 10 =
FRR=TH 2826 Fih 248 FORR=TH 10 & 12 2
ERE=TH 2826 FiHh - 249 ERE=ZTH 10 & 13 2




EERTIBFT AR (AR hiE)

EFERRTERRE~FMIFIAZTHET

IH{ AT (FH 6 H) BERT (EEFR) {5

FRR=TH 2826 FHHL - 250 FORR=TH 10 & 14 2

ERE=TH 2826 FHh - 251 ERE=ZTH 10 & 15 =

FRR=TH 2826 Fih - 252 FORE=TH 10 #F 16 l

FHRKUTH 3854 /M 11 EREWTH 2 F 11 = [3853%16
FORIRM T H 3854 FHHL 14 il FOREMTH 2 #F 28 5 |3856%3

kU T H 3854 /M 15 FRWMTH 2 F 15 = 1385672

FORIRM T H 3854 FHH 18 FOREMTH 1 F 37 l

FREWTH 3854 FHHL 22 FORRIUTH 1 & 30 B2

FREMT A 3854 FHH 23 SOREMTHE 1 F 29 2

FREMTH 3854 i 24 il FORRIUTH 1 & 28 5 |3856%10
FIU T H 3854 M 25 FARWUTH 1 F 12 5 |3856722, 385771
SRR T H 3854 Fih 26 FORIRMTH 1 F 11 Zl

FREMT A 3854 FHH 27 SOREMTH 1 F 10 2

SRR T H 3854 Fih 28 FORWEMTH 1 & 9 Zl

FRIEMT A 3854 FHH 30 FREMTH 1 F 7 2

TR T H 3856 FHi 5 Al FORRIUTH 2 & 16 5 1385417
FRIEMT A 3856 Fih 7 FOREMTH 2 F 18 2

SRR T H 3856 it 8 FORIRMTH 2 F 22 Zl

FRIEMT A 3856 i 12 FOREMTH 1 F 26 2

SRR T H 3856 M 13 FORIRMTH 1 F 25 Zl

FRIKIUT H 3856 it 14 FORRMTH 1 % 24 2

TR T H 3856 FH 15 FORIEMTH 1 F 23 Zl

FHKUT H 3856 i 16 i EHRWUTH 1 & 22 2 (385872, 3858% 13
FRWUT A 3856 FHi 17 i ERWUTH 1 & 18 5 |3858%5, 3858% 10
FHKUT H 3858 /i 3 FRWWTH 1 F 21 2 [3858%12

M H—TH 2826 Z*Ht 9 fih [ H—TH 3 #F 20 % [3100%15

W —T A 2826 /i - 12 i i —T A 4 &K 1 2 [3100%34, 2826774
[t —TH 2826 FHHL 46 et —TH 5 & 29 2

i —TH 2826 FHHL 48 i —TH 5 % 31 5 |3856%2




FERRTIEHARER (BHE) ([FERRTERE~SMIFEIAI1BET

IH{ AT (FH 6 H) BERT (EEFR) {5
[t —TH 2826 FHL 49 il it —TH 5 & 32 5 [2826%49, 3100547
i —TH 2826 FHL 50 Al i —TH 5 % 33 5 |3100%48
[t —TH 3100 FHL 26 it —TH 4 F 3 l
it —TH 3100 FHh - 27 it —TH 4 % 4 B2
[t —TH 3100 FHFHh - 40 it —TH 4 F 29 El
it —TH 3113 /i 1 it —TH 2 % 8 2
[t —TH 3113 FH 19 it —TH 2 F 6 l
it —TH 3133 FH 14 it —TH 2 #* 3 B2
i —TH 3141 Ty fi i —TH 6 & 29 2
M= TH 2826 FHh - 57 [ H =T H 4 F T =2
MH = TH 2826 FHEHL - 58 i —TH 4 F 8 2
MH=TH 2826 it - 68 il =T H 4 F 29 5 (28267568, 2826769
MH = TH 2826 FHHL - 78 i —TH 5 #* 3 2
M= TH 2826 FHt 80 M= TH 5 % 11 =
MG = TH 2826 FHHL 93 M= TH 6 F 7 2
MH=TH 2826 M - 101 M =T H 6 #F 20 z
MG = TH 2826 & 107 M= TH 6 & 28 2
=T H 2826 ZHh - 108 M =T H 6 #F 29 Zl
MG = TH 2826 & - 115 M= TH 3 %9 2
MH=TH 2826 118 M =T H 3 F 12 Zl
M —TH 2826 FH 120 M= TH 3 % 14 5 149371, 149473
M =TH 2826 &M - 125 M =TH 3 & 25 a
W T A 2826 FHH 133 M= TH 3 % 33 2
FIH T H 2826 FEH - 136 FH T H 3 %F 1 )
M —TH 2826 Fih - 171 M= TH 12 % 16 =
FIH T H 2826 FH1 172 fih FH T H 15 & 2 5 |2826%173
W T A 2826 FHH 194 M= TH 9 F 10 =
i =TH 2826 FHL 239 Ml W =TH 15 % 1 5 128263244
W T A 2846 M T H 12 % 12 5




EERTIBFT AR (AR hiE)

EFERRTERRE~FMIFIAZTHET

IH{ AT (FH 6 H) BERT (EEFR) {5
i =TH 3048 i 1 W =TH 2 F 8 2
AT H 1145 Fih - 2 b fEWE—-THE 1 & 19 5 |1147% 1, 114871
A —T H 1151 FHh - 3 fib aEME—-TH 9 F 33 5 |1151%3, 115134, 1503710, 1503%8
FHE— T H 1154 %M - 3 AEE—TH 1 3 - B2
e —T H 1154 ZFH#i - 4 fEE—TH 1 & 3 - El
FHE— T H 1154 %M - 5 FAHEE—-TH 1 F 3 - 2
e —T H 1154 ZHi - 6 fEE—TH 1 & 3 - l
FHE— T H 1154 %M - 7 FAHEE—-TH 1 F 3 - B2
e —TH 1155 #Fi#i 6 fEE—TH 1 % 35 2
FHRE— T H 1155 &M 7 aEE—-TH 1 & 36 22
FERPE—T H 1467 Fih AEWE—TH 3 & 39 5 |1468% ., 46743
e —T 1483 FHh L —TH 9 #F 3 2
e —TH 1495 ZHh fitu e —TH 2 & 16 = |1215%1
FHRE— T H 1500 & - 1 filt aEE—TH 9 #F 13 - & 149731
FEVE—TH 2681 FHH 1 AEE—TH 12 & 31 2
A — T H 2702 Fih - 2 AEE—-TH 12 &F 11 - 22
FEVE—TH 2702 FH - 2 aEE—TH 12 F 11 - 2
A — T H 2706 FH 1 Al aEE—TH 8 &F 31 - 5 |2706% 1, 4688F8D—Hf
FEVE—TH 2826 FHHL 229 il AEE—TH 6 &F 1 2
L —T 2868 i - 2 AHE—TH 5 & 1 - z
A —T H 2868 i 4 AEE—TH 7 F 17 2
FERE—T H 2868 i 5 awE—TH 7 % 18 ke
A —T H 2868 FHHL 6 DO—¥F AEE—TH 7 F 19 =
FHEE— T H 4626 FHh - 1 fth AEE—TH 4 & 13 = 462600 —F
AEPE—T H 4654 FHb 1t AEWE—-TH 3 & 30 5 |46547 . 46577, 46571
FHERE—T H 4673 T aEE—TH 8 & 9 &
A —T H 4688 i - 4 AEE—TH 9 F 12 2
FEPE—T H 4694 i 1 FAEE—TH 9 & 20 2
AERPE—TH 4694 FH 2l AEE—-TH 9 #F 23 5 |4694%2. 15063




EERTIBFT AR (AR hiE)

EFERRTERRE~FMIFIAZTHET

IH{ AT (FH 6 H) BERT (EEFR) {5
A —T H 4698 FH 9 AEE—TH 11 % 6 14698711
FEPE—TH 4703 Fith AEHE—-TH 11 & 12 o2
FHERE T H 1923 FEHL - 5 FAEBE_TH 5 &7 Zl
HEPE T H 1923 & - 6 fi LB _TH 5 F 26 = 1934311
FHERE T H 1923 FEHL - 7 FAEBE_TH 5 * 6 Zl
e T B 1923 & - 8 AEE=TH 5 % 8 - =
FHERE T H 1923 FEHL - 9 FAEE_TH 5 % 8 - Zl
FRTE T H 1923 & - 10 FAHE_TH 5 F 8 - B2
FEVE_TH 1923 ZF# - 11 AEE_TH 5 # 8 - 2
FHRE T H 1923 Fih - 12 FEETH 5 F 8 - 22
FEVE_TH 1933 F#H - 1 fh FEE_TH 7 F 34 - 5 |1939%7, 193978
FHRE T H 1933 3 A TH 7 % 33 =
FEVE_TH 1934 % - 1 FEETH 5 & 25 2
FHRE T H 1934 & - 5 FAEETH 7T % 31 =
FEVE_TH 1934 ZFh - 12 AEETH 5 & 24 2
FEE T H 1934 L - 13 FEE-TH 5 & 23 5
FEVE_TH 1934 ZF#h - 14 AEE-TH 5 F 22 2
HERYE T B 1934 Zih - 17 AEE_TH 7 F 32 z
FEVE_TH 1935 M fitt AWE_TH 7 F 25 - 5 |1935% ., 19367%. 19387 2002%1
e T H 1939 &F#h - 1 LEE_TH 7 F 6 z
I T H 1939 &M - 2 FEETH 7 F 4 - 2
FEPE T A 2645 Fih - 1 b FEETH 10 & 26 5 |2645%2, 2645%5
HEPE T H 2655 FHHh 1 AEWE_TH 12 & 6 =
AT T H 2664 Fi - 1 AHE_TH 11 & 38 7 |2664%4
HEPE T H 2674 T - 3 b AWE-TH 12 & 14 2 [26747%8
AT T H 2674 i - 5 FHE-TH 12 % 11 =
HEPE T H 2674 FHt - 6 AEWE_THE 12 & 13 =
FEVE T H 2674 i - 7 FAEE_TH 12 & 10 =
HHEPE T H 2675 FHh - 1 AT _TH 12 & 16 5




FERRTIEHARER (BHE) ([FERRTERE~SMIFEIAI1BET

IH{ AT (FH 6 H) BERT (EEFR) {5
FEVE T H 2676 FH 3 FAEE_TH 11 % 31 2
AERPE T H 4738 FH# 1 o—#  |[FEE_TH 2 % 3 22
FEVE T H 4739 FMh AEETH 1 & 12 l
P T H 4757 FHh - 1 AEE_TH 1 & 9 B |4755%2
A ="TH 1530 ZH fitt AEE=TH 2 & 29 5 |1529%1
HEE =T H 1532 Fih - 2 b AT ETH 2 % 35 - 1 5 [1532%3, 1532%23
A ="TH 1532 ZM# - 4 fil T =TH 2 % 35 - 2 5 [153234, 1532%5
FEE =T H 1532 &M - 6 it L =TH 2 % 35 - 3 & [1532%22
AEE=T H 1532 FM - 7 AWE=TH 2 % 3 -5 &
e =T B 15632 &Hh - 8 LEE=TH 2 F 3B -6 =
AEE=T H 1532 /M - 9 AEE=TH 2 F 3B -7 &
e =T B 1532 FHs - 10 LEE=TH 2 %* 3B -8 =
AR =T H 1532 FM#i - 13 fiL FAEE=TH 2 % 34 - 7 5 [1532713, 1532%24
FEVE=TH 1532 & - 15 AEE=TH 2 % 34 -5 =
A =T H 1532 i - 16 AEE=TH 2 & 34 -4 =
FEVE=TH 1532 FHh - 17 AEE=TH 2 & 34 -3 =%
A =T H 1532 ZHh - 18 AEE=TH 2 & 34 -2 =
AP =T A 1532 & - 19 FEE=THE 2 %F 34 -1 =
A =T H 1533 ZF#h - 14 AEE=TH 2 & 34 -6 =
FEVE=TH 1544 &M - 1 AEE=TH 2 & 19 22
FHIE=TH 1544 FH - 4 FEE=TH 2 F 20 2
FERPE =T H 1544 &H 5 AHE=TH 2 % 21 7 [13613%1. 1362%3
FHIE=TH 1544 FHi - 6 FEE=TH 2 F 22 2
AEPE=T B 1572 3 AHE=TH 2 % 2 =2
A =T H 1580 FHih - 2 fib FEWETH 2 & 71 - 6 & [1580%2, 1604%6
FERPE =T H 1604 M - 1 AHE=TH 2 % 71 -3 &
FHIE=TH 1604 M - 3 FEHE=TH 2 F 71 -4 =
FHEIE =T H 1604 % - 7 FAEE=TH 2 % 170 -5 %
AR =TH 1604 #&H - 10 AEE=THE 2 F 0 -4 =




FERRTIEHARER (BHE) ([FERRTERE~SMIFEIAI1BET

IH{ AT (FH 6 H) BERT (EEFR) {5
FEVE=TH 1604 ZH1 - 11 FAEE=TH 2 % 170 -3 %
AEPE=TH 1878 M - 2 oO—# |AHE=TH 3 &F 35 22
FAEE=TH 1898 &M - 1 FAEE=TH 6 # 6 - l
A =T H 2006 FHEih - 1 FAHE=TH 6 & 30 - B2
FEVE=TH 2021 FHL - 3l FAEE=TH 5 % 3 - 5 1201471
FEF R —TH 1203 FH - 1 aEhR—TH2 #F 17 2
AR —TH 1215 FEHl AR —TH4 & 18 l
AP R—TH 1259 Fih PR —THESL F 1 B2
AEHR—TH 1357 i O—F ek —-TH4 & 34 5
fEge—TH 1363 FH# - 1 fth P R—TH4 F 6 - = (136431
fERR—TH 1363 FH - 2 i h—TH4 #F 8 - 2
s de—TH 1366 i 1l A R—TH3 &F 22 77 |1367%4
R R—TH 1366 FHr 2 R —THS3 & 24 2
fiEg—TH 1369 FH 2 fh FEPR—THS3 F 26 5 (136975
FEPRTH 3010 FHL o 24 AR TTH L0 #F 25 2
FEHRYSTTH 3310 FH - 13 AP TTH 10 37 &2
FEPRTH 3310 FHL - 14 AR TTH 10 & 36 2
FEHRSTTH 3310 FH 15 FEPRTTHIO F 35 &2
FEPRTH 3310 FHL 16 AR RTTHI0 & 34 2
FESHRSTTH 3310 FH 17 FEPRTTHLI0 F 33 &2
FHEFRTH 3310 FHL - 18 FEPR T H L0 F 32 2
AP T H 3310 FHih - 19 AR THLIO & 31 Zl
FHEPRTTH 3310 FHL - 20 FEPRTTH L0 F 30 2
AR T H 3310 FH 21 AEHRTHIO F 14 Zl
FHEFRTH 3310 FH o 22 FEPR TR L0 F 27 2
AP T H 3310 FHho 23 AETHRTTHI F 26 Zl
FHEFRTTH 3310 FHL - 25 FEPRTTH L0 F 23 2
AEBRTH 3310 Fih - 26 AWMPRTTH 10 F 21 Z
AR T H 3310 & - 27 FEPRTHLI0 F 20 22




FERRTIEHARER (BHE) ([FERRTERE~SMIFEIAI1BET

IH{ AT (FH 6 H) BERT (EEFR) {5
FEHPRTTH 3310 & 28 FEIPR T H 10 F 18 2
AR TH 3310 &t 29 FEPRTHRL0 F LT 22
AEFRTTH 3310 FH 30 AWMFRTTH 10 % 16 5
FHEFRTTH 3310 FH - 31 FAEPRTHIO K 4 B2
FEFRTTH 3310 FHL - 32 AEFRZTHLI0 F 2 El
FHEFRTTH 3310 FHL o 37 FEPR TR IL F L2 2
AEFRTTH 3310 Fih 38 AWMPRTTH 1L F 10 5
FHEFRTTH 3310 FH o 39 FAEPRTHIL F 8 B2
FEFRRTH 3310 FHL 40 AP TTHIL E 7 2
PR H 3310 &M 42 fth fEBHR TR 1L & 4 5 | R T H3330%9
FEFPRZTH 3310 FHL o 43 AR TTH 1L E 3 2
AEMBRTTH 3310 Fih - 44 FEBFRTTH I & 1 =
FEFPRZTH 3310 FHL - 45 FHPR T H L #F 18 | EHRK T H3330%7
AEMBRTTH 3310 Fih 46 FEBFRTTH 1L & 17 =
FEPRZTH 3310 FHL - 47 FEPRTTHIL F 16 2
FEHRSTTH 3310 FH - 48 FEPRTTHIL F LS &2
FEPRTTH 3310 FHL - 49 FEPRTTHEIL F 14 2
AT H 3310 &ML 50 FEPRTTHIL F 25 &2
FEPRTH 3310 FHL 51 FEPRTTHEIL F 24 2
FEHRSTTH 3310 FH 52 FEPRTTHIL E 23 &2
FHEPRTH 3310 FHL 53 FEPRTTHEIL F 22 2
AP TH 3310 Fi 54 AR TTHLIL & 21 Zl
FERRTTH 3449 FHL - 2 il FEPRTHS 6 5 344974
LECPR=TH 2935 & 1 fh FEHRR=THI & 9 5 |2935% 10, 2935%12
FHEFR=TH 3062 FH 2 FEPR=ZTHI12 F 14 2
AR =TH 3066 & 1 AR =TH 11 & 14 2
FHEFR=TH 3068 FH 6 FEPR=THI10 F 12 2
FEFR=TH 3072 FH 2l AP R=THS & 7 - 1 5 [3072%22, 341552
FEPR=TH 3072 F#r 14 FEPR=THS F 7 -2 =




EERTIBFT AR (AR hiE)

EFERRTERRE~FMIFIAZTHET

IH{ AT (FH 6 H) BERT (EEFR) {5
AEPR=TH 3072 & 15 AEHHRL=THS ®H 7 - =
FEFR=TH 3072 &F# 16 FEPR=THS F 6 - 22
FEFRL=TH 3072 FH 18 AEPRL=THS & 6 - l
LSRR ZTH 3072 & 19 fth FEHR=TH 8 6 - = (3072824
FEAFR=ETH 3099 FH o 1 il AEPR=TH9 & 9 7 |3099%4, [ T H 28267241
AP R=TH 3168 i - 2 A R=TRHT7 & 5 5
FEFR=ETH 4617 FH 1 il AHPR=TH 14 F 21 W 461733, 4618%
FEFRMNTH 1138 FHh - 2 FEPRIMTHET 33 B2
FEFRIUTH 1138 FHHL - 4 FHPRIUTHT 34 2
AEWFRMTE 1157 FH 1 fh FEHRMTHT & 40 5 |1159%, 116071, 116671, 1168%1
AEFRETH 1161 FH 6 FAEHPRMTHT % 3 2
FESHRYTH 1164 FH 1 AP RNTES F 21 - 2
FEFRMTH 1164 FHL 3 AHHPRIUTHS F 2T - 2
FESRRUTH 1164 FH 5 AP RNTES F 21 - 2
FEPRMTH 1164 FH 6 AEHRNTHES  F 2T - 2
AEHRRNTH 1164 FH 7 FHEPRNTES & 271 - 2
FEPRMTH 1164 FHL 8 AEHRNTHES  F 2T - 2
AESHRUTH 1164 FH 10 AP RNTES & 271 - 2
FEPRMTH 1164 FHL 11 AEHRNTHES  F 2T - 2
FESRRTH 1164 FH 12 AP RNTES & 28 2
FEFRMTH 1173 FHL 3 FEPRMTHES F I3 =
FIEHPRIUTE 1175 &M - 1 o—F  [AEFRMTHES K 18 2
LEFRRMUTH 1175 FH - 1 O FEPRIMTHES F 19 =
AEHRRNTH 1175 &3 AT HS & 14 2
FHEFRMTH 1175 FHL 5 FEPRIMTHES F 13 =
FIEHPRIUTE 1176 & - 4 o—F  [AEFROTHES K 12 2
FHEFRMT R 1184 FHL - 1 FEPRIMTHES 52 =
FEHBRNTH 1272 H fts FHHRMTH2 & 48 5 | E 1281 128380 D, 12837
4 19280573 1983K9
AEBHRRIUT H 1286 & - 1 BRI TR & 7 22




EERTIBFT AR (AR hiE)

EFERRTERRE~FMIFIAZTHET

IH{ AT (FH 6 H) BERT (EEFR) {5
FETFRUTH 1286 BHL - 4 FHPRNTHS & 75 (g 0 12890 1289850
FEBPRPUTH 1287 Fi - 1 AEHPRUTHE3 F 12 5
FEFRIUTH 1298 FHHL - 1 AEFRMNTHE3 & 34 l
FRPRIUTH 1298 FH - 2 LB TR 3 & 34 B2
FEFRIUTH 1298 FHL - 4 AEFRMNTHE3 F 34 El
LBPRIUTH 1304 FH - 5 fHBHARE TRS & 14 2
AERRNTH 1382 FH 2 o—E  [AEHFRNTHELD F 58 5
FAEPRMTH 1382 il O—F  [FEERRMTHEL F 57 =2
FEFRRIUTH 1392 FHL - 1 FHPRIUTH L & 22 2
AEFRMTE 1399 & - 3 fh FESFRMT AL & 48 5 |1399%5
FEFRIMTH 1401 FHL o 1 FEPRIUTH L & 29 2
YT H O 1402 2 AEHRUTHLD & 40 Zl
AEPYUTH 1411 KM FAEHPRMUTHS F 7 2
LY T H O 1414 3 1 AETHRIUTHGE & 44 Zl
FEPRMTH 1414 FHL 3 FEPRIMTHGE 43 2
FEPRUTH 1414 &FH 5 AP RNTEGE & 16 2
FEPRMTH 1414 FH 6 FEPRINTHGE 16 2
FEPRUT A 1417 &M - 6 AP RNTEE & 17 2
FEPRMT 1417 FHL - 7 FEPRIMTHEGE L7 2
FEPRIUTH 1424 FH 1 fh AR TAS & 33 5 |1427%2
AP RIUT R 4579 Fib FEPRMTHES F 19 =
FEHRATE 1135 FH 7 AR ALTH L & 38 2
FHEFRELTH 1135 FHL 8 FEPRLITHEL F 37 2
FEHPRATE 1135 FH 9 AR ELTH L & 36 2
FHEPRETH 1135 FHL 10 FEPRELITHEL F 35 2
FESHRRETH 1135 &M 11 AR ELTH L & 34 2
FHEPRETH 1135 FH 12 FEPRLITHEL F 33 2
FEHPRAETH 1135 & 13 FEPRITTHL F 31 2
GEPRETH 1136 FH 3 AW RETH2 & 8 5 |11377%4, 113874




FERRTIEHARER (BHE) ([FERRTERE~SMIFEIAI1BET

IH{ AT (FH 6 H) BERT (EEFR) {5
FEFRLILTH 1170 FH - 1 o—#  |AWMPRITHL & 16 2
FEFRAETH 1170 F# - 1 o—H [AEHPRETHEL F 17 22
FEPRICT H 1186 s AEPRILTHEL & 2 l
AP RETH 1614 F#H 1 AEHRETH3  F 50 5
FEFRANTH 1191 FHL 5 FAHPRANTHLD F 52 El
LEPRATE 1192 FH 2 FEFRATHL & 3 22
R —TH 606 i 1 AER—-TH 4 % 41 l
R —TH 606 FHHL 4 AER—TH 4 %F 39 B2
R —TH 607 i - 2 fER—-TH 5 & 27 2
AR —TH 607 i 3 AEHE-TH 5 & 30 5
AR —T H 608 i - 2 fth FER—TH 5 F 31 7 60872, 60875
R —TH 608  Fih i LR —TH 5 & 32 5 |24
AR —T H 620 ML - 1 FAER—TH 5 F 1 2
AR —TH 622 & 1 FHER—TH 6 &5 =
FHR—TH 622 i - 4 AER—TH 5 F 10 2
AR —TH 622 M - 5 AER—TH 5 & 9 22
AR —T H 622 FEH 6 AER—TH 5 % 8 2
AR —TH 622 FH - 10 AER—TH 5 & 2 22
FHR—TH 627 1 AER—TH 2 & 31 2
AR —TH 637 FHh - 1 AER—TH 3 &F 17 22
FHUR—TH 663 FHHL 4l AEHE—-TH 1 F 24 5 |663%4. 663%5
AR —TH 679 i 1 AEWH—TH 9 &F 11 a
FHUR—TH 696 FH - 4 FER—TH 1 F 32 2
AR —TH 4428 F Ml AER—TH 11 & 16 a
FHUR—TH 4460 Fh - 2 FER—TH 10 F 7 2
AR —TH 4460 FH - 2 AEWH—TH 10 & 7 a
FHUR—TH 4497 FM - 3 FER—TH 9 F 25 2
FER—TH 4497 FHh FAER—TH 9 % 23 2
FHER_TH 649  FHl 1 AER_TH 6 % 38 >
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IH{ AT (FH 6 H) BERT (EEFR) {5
FER_TH 649 FHL - 7l FEHHE_TH 6 % 39 - 4 %5 [649%9, 651%9
FHER_TH 651 7 AWK _TH 6 % 3 Z
AR _T H 651 ZFEH - 8 FAER_TH 6 %* 39 -7 &

FHR T H 651 FHL - 10 FHR-TH 6 #F 39 -6 =
FER_TH 651 FHFHL - 11 FAER_TH 6 % 39 -5 &

AR T H 712 F# - 1 AER_TH 1 #F 31 =

AR _T H 714 FH - 1 FAER_TH 5 * 4 Zl
HEHRTTH 716 FH o 1 Al AEHE_TH 5 & 58 5 [7167%4
AR T H 723 i1 AEMKRZTH 7 F 4 5

AR =TH 422 FHh - 15 FEIR=TH 8 & 31 22

AR =T H 425 FH - 1 FAER=TH 8 * 8 7 43131, 43272
AR =T H 425 &M - 1 fth FAHR=TH 8 & 9 7 |432%2
AER=TH 430  FH - 3 FER=TH 7 F& 29 2

AR =T H 430 FH - 8 FHBR=TH 7 % 28 2

AR =TH 433 FHH o 2 AER=TH 7 & 24 - 2 =

FEBHR =T H 433 FH 3 FHR=TH 7 % 24 -3 &

AR =TH 433 HHt 4 AER=TH 7 & 25 - 4 =

FEBHR =T H 433 7 FEHR=TH 7 F 25 -1 &
ATR=TH 437 Ml 3 AER=TH 7 % 16 2

FEBHR =T H 437 4 FHR=TH 7 & 17 2
FEHR=TH 437 FH 5 AER=TH 7 % 18 22
FHER="TH 444 FH - 1 FHER=TH 1 % 41 2
FEHR=TH 444 FHL - 4 AER=TH 1 %F 40 22
FHER="TH 444 FH - 5 FHR=TH 1 & 39 2
FHE=TH 444 FHH - 6l AEE=TH 1 F 37 B |444%6, 444%7
AER=TH 494 Fih - 2 AER=TH 2 %& 40 &
FHUR=TH 495 F 11 FHER=TH 1 % 26 =
FER=TH 495  FEH#n 12 LEE=TH 1 % 27 5

AR =TH 528 1 AER=TH 10 % 43 >
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FER=TH 537 ML 3 FAER=TH 10 & 13 2
AR =TH 537 L 7 FAER=TH 10 & 14 Z
FHERICT H 4308 M - 6 FERITH 3 & 3 l
FHRTIT H 4338 ‘i - 1 FERELTHE 1 F 19 - B2
AEHANT H 501 7l 1 AEEANTH 1 F 2 7
FEBHNT B 502 &M - 1 fih AEHEANTH 1 &7 5 (603D —#T, 504& 1D —HE
FHEHRANTH 526 FHHL - 2l FERANTH 3 % 6 5 1555758
FEBHNT B 547  FHh 3 il AEHFEANTH 4 F 10 2 %??61%49%5\ 550%1 55171, 552
FHEATH 548 i it GHAATH 4 % 23 - g [DHOWIOTH SA9H2, 550%S. 5517
FEBHST B 554  ZEHf 1 LEBHEOSTH 30 F 17 2
AEBHANT H 560 ML - 1 FAEHEATH 5 F 6 2
FEBHST B 566 P AEHEANTH 4 &F 31 2
AEBHANT H 568 i - 2 FEHASTH 5 F 19 2
FIEBHN T H 569 FHh 4 FEHRATH 5 F 21 - 22
FEBHST B 569 & 5 i AEHANTH 5 F 22 5 [670%
AN T H 577 FEM - 1 FHHROSTH 6 & 26 5 |577%2
AT A 580 Fi - 1 il FERANTH 6 #F 6 %5 |580% 1, 58072
FHRETH 4348 Fi - 2 FHRETH 3 & 27 2
FEBHRETH 4385 it i FERETH 2 F 9 = |4385%2
HEBHINT B 3685 i AERANTH 8 & 1 z
FHONT R 3689 i FEENTHE 1 F 16 - =
FHEIHNT H 3732 Fih AT H 11 & 1 2
FHEFNTH 3790 FHL 7 AEHFENTH 5 F 25 - 5
FHEIHNT H 3958 Fi - 1 il FHRNTH 14 & 24 = (3958710
FHEFNTH 3958 FHHL - 3 AEHFENTHE 14 F 17 t=3
FHIHNT H 3958 FHh - 4 FHMBENTH 14 % 18 =
FHEFNTH 3958 FHHL - 5 AEHFENTH 14 F 19 t=3
FHEFNTH 3958 i - 6 FAERNTH 14 & 20 2
AEBHFINT A 3958 FHih - 7 FEEANTH 14 & 21 =
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FEFNTH 3958 i - 8 FAERNTH 14 & 22 2
AEHFEINTH 3958 FHHL - 9 AEHFENTH 14 F 23 =
FWEATH 3066 EH - 10 i GHAATR 14 8 - 1 [Soo M BN0MIS, S96THRIS, 5967
HEFINT H 3967 FHHh - 8 b FEWMENTH 14 & 6 = 13967716
HEFRNT H 3967 i - 9 AEFNTH 14 % 7 El
FEBHINT B 3970 it 2 AEENTH 5 &F 25 - 1 &
HEFRNT H 3970 FH 5 FAEHRNTH 5 &F 25 -2 &
FEBHINT B 3970 it 6 AEHENTH 5 &F 25 - 3 &
AEHFINT H 3970 FMh - 8 AEHERNTH 5 F 26 -5 &
FHIHENT H 3970 & - 10 fHBRANTH 5 & 25 - 6 &
FEFNTH 3970 FH 11 FAEHRNTH 5 F 25 -1 &
FHIHENT H 3970 Eih - 12 fHBRANTH 5 & 26 - 6 &
FEFNTH 3970 FHL - 13 FAEHRNTH 5 %F 26 - 5 &
FHIHENT H 3970 FEh 14 FEHENTHE 5 F 26 - 4 &
FEFNTH 3970 FHL 15 AEHFENTH 5 F 26 - 3 &
AT H 3970 & 16 FEHRANTHE 5 F 26 - 2 &
FEFNTH 3970 FHL 17 AWHFENTH 5 F 26 -1 =&
AT H 3980 & - 1 FHRNTH 7 & 26 2
FEFNTH 3980 i - 4 AERNTH 7 F 25 2
AT H 3980 Fih - 5 AT H 7 & 29 2
FHEFNTH 3981 FH 1l AERENTH 7 F 32 5 (398171, 39823
AEHFINT B 4022 i - 8 AERANTH 6 % 6 &
FHONT R 4051 Fh FEHENTHE 5 F 38 =
AEHFINT B 4439 T AERANTH 2 & 15 &
FHONT R 4449 Fh FERNTHE 2 F 11 =
FiE T H 1 Fi - 14 FEE_TH 2 F 13 2
FEEE T H 1 T - 20 A _TH 3 F 10 2
AR T H 4 FE 3 AWME-TH 1 % 6 )
AR TR 4 8 A _TH 1 F 16 >
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IH{ AT (FH 6 H) BERT (EEFR) {5
A T H 8  HH - 4 AHE_TH 4 & 18 )
HHEE T H 903 FHr 1 b fEE_TH 12 & 5 5190371, 90373
HEE T H 904 FHr 1 b AWMETH 12 F 7 (90431, 904783, 129673
¥R T H 907 FEHh - 10 fHETH 7T & -3 B2
FiEBE — T H 907 M - 11 AHE-TH 6 & 4 2
fEEE T H 942 M - 3 i A _THE 4 F 10 5 (872
FiEBE — T H 942 FHh - 29 AW -TH 5 F 11 2
fithm =T R 976 FHH - 7 AEE=THE 8 F -10 2
FiEBE =T H 1062 FH - 1 i AEM=TH 1 % 21 2
FBE =T H 1062 #&F# - 1 fh AHEEETHE 1 F 22 2
FEBEIPY T H 24 FH 38 FAEFHEMETH 1 % 2 2
AR T H 960 FH 1 AHEEETE 5 F 11 2
FiEBEI T H 50 F&H 25 fth FAEHITH 5 F 5 5 |50%27, 50%48
AR AT H 50 &M 28 AHEHTHE 5 & 4 2
AT B 50 & 29 AEEAETHE 5 F 29 =l
FiEE T H 50 ML 30 FMEILTH 5 & 27 =
LT B 50 & 31 AEEATHE 5 F 26 =l
FiEE T H 50 ML 32 FMEILTH 5 & 25 =
FHBE AT H 50 &ML 33 i AEEATHE 5 F 24 5 (507258
FiEE T H 50 M 35 fth FHEILTH 5 & 23 5 |50%36
T H 50 &M 38 AEEAETHE 5 F 33 =
AR T A 50 ML 39 FMEILTH 5 & 34 2
T H 50 ML 40 AEEAETHE 5 F 35 =
AR T A 50 &ML 41 fth FIFEETH 5 & 36 5 |50%42
T H 50 M 43 AEEAETE 5 F 37 =
AR T A 50 ML 44 AMEILTH 5 % 38 2
FHEEET B 50 &b 46 fih AEMEETH 5 F 42 5 (50754, 96577, 96571
FiEhE T H 50 &M 53 A ETH 5 & 44 3
AEEE TR 50 &L 59 FEEETE 5 F 45 2
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FIBEE AT H 50  &HL 60 A TH 5 & 46 3
AEEE TR 50  FEHL 61 AT E 5 F 47 2
AT H 65 & 2 o—#H |AHMETHE 3 F T -2 &
AT H 65 FHH 2 fh FAEEILTH 3 & - 1 5 |969%3, 969715
FiEBEI T H 65 & 3 AEfEAETH 3 F 8 - 2 B
FBEE AT H 65 A 4 LEEETE 3 F 8 -3 &
FiEBEI T H 65 & 5 AEfEAETH 3 F 8 - 4 B
FBEE AT H 65 A 6 LR TE 3 F 8 -5 &
FiEBEI AT H 65 A 7 AEEAETH 3 F T - 4 B
AR AT H 65 A 8 fHEETE 3 F T -3 &
I T H 65 i 10 fih FAEHEAETH 3 F T - 1 5 [969%5, 969713
FiE T H 65 & 11 fHEAETH 3 & 5 - 4 &
FiEBEI T H 65 & 12 AEEAETH 3 F 5 - 3 &
AR AT H 65  EH 14 fh FMEATHE 3 F 5 - 1 % [969%9, 969711
FHBE AT H 73 FH 3 AEEAETHE 4 F 6 -1 &
FHFEET A 73 &M 4 FHEFEETH 4 &6 - 2 &
FHBE AT H 73 FH 5 AEEAETHE 4 F 6 -3 &
FHFEET A 73 &M 6 FHEFEETH 4 &6 - 4 &
LT B 76 Fih i AEEILTHE 4 F 4 |77
FHFEET A 219 T 12 FEFEETH 6 #F 33 =
AT B 965 FEH 2 AEMEETH 5 &F 21 22
AR T A 965 & 3 FIEFEETH 5 & 20 2
AT B 965 FEH 5 AEMEETH 2 F 32 22
AR T A 965 &M 6 fth FEFEETH 5 F 4l % (965720, 50345, 50750
AT B 965 FEH 8 AEMEETH 2 F 28 22
AR T A 965 & 9 FIEFEETH 2 & 26 2
FHBE AT A 965 & 29 AEEAETHE 5 F 48 2
FIBEEAL T H 965 &M 31 A TH 5 % 50 3
AEEE TR 1246 F# 3 AEEETE 6 F 17 2
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FIBEEANTH 204 &3 AEBEATH 9 & 19 3
FERFEART 204 M - 11 i FEEATE 9 F 30 7 |3
FEBRI ST H 205 8  fth AEPEATH 8 F 11 - 3 &

FiEm AT R 206 FEHL 1 LEEATE 8 F 11 O- 1 F

FEBRI ST H 206 & 10 AEPEATH 8 F 11 - 2 &
FHFEATH 206 FH 12 LEEATE 8 F 11 - 4 F

FEBRI ST H 206 FEh 13 AEPEATH 8 F 11 - 5 &

FiEm AT R 230 L - 2 AEEATE 2 F 1 2

FEBRI ST H 233 FH - 7 fth FAEHEATH 2 %/ 7 5 (23372
FHEmELETH 12 FHm 2 AEELETH 1 % 18 2

FiEE £ T H 229 o 2 fth FAEMEETH 9 F 16 5 (22987
FBEE T H 230 & 11 £AHEETH 10 & 6 2

FiEE £ T H 232 FHh - 2 AEWHELETH 11 % 38 -5 &
FBEE T H 232 &FM - 7 LT E 11 F 39 2
LT 232 - 9 AEEETHE 11 F 38 - 8 &
LT A 232 FH - 10 FMEETE 11 F 38 -7 =

FhEE LT H 232 FH - 12 fh AHEETHE 11 %F 38 - 3 & [232%11
LT A 232 T - 13 FMEETE 11 F 38 - 6 =
LT 239 Fih - 13 AEEETHE 6 F 12 =l
LT A 241 &FM - 8 FHELETHE 6 & 7 =

FrihEE LT H 246 1 FHEETH 7T % 21 2
LT A 246 FH 6 AHMEETHE 7 & 20 2
N T R 246 HH - 4 aEEANTHE 2 F 12 22

FE T H 259  FHh O—E fh|AHENATE 4 & 17T - 5 [260FD—HL
AHENT B 260 i aENANTH 4 & 18 - 2
AT A 3921 &M - 4 fth FEFENTH 5 & 26 = (392371
ALY A 4795 FHh 1 PN IN] Lt E| 7 % 15 2
ST 4797 i - 1 AT H 8 % 8 Z
FERAE—TH 994 FHL 2 fAEde—TH 6 #F 10 - 31 %
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AL —TH 994 M 3 AEIE—TH 6 & 10 - 39 &
AERIE—TH 994 FHL 5 fAEde—TH 6 &F 10 - 38 %
At —TH 994 L 6 AEId—TH 6 F 10 - 37 &
AL —TH 994 FHL 7 fAEde—TH 6 #F 10 - 33 &
AL —TH 994 L 8 AEIdE—TH 6 &F 10 - 34 &
AL —TH 994 FHL 9 fAEde—TH 6 #F 10 - 35 &
At —TH 996 i - 4 AEIdE—TH 6 #F 10 - 10 &
AL —TH 996 FHL - 12 fAEde—TH 6 #F 10 - 5 &
At —TH 996 FHEHL - 17 fEId—TH 6 #F 10 - 22 &
FEAE—TH 996 i - 23 F#EAE—THE 6 F 10 - 11 &
At —TH 999 i 1 fEdE—TH 6 & 7 2
AHEdL—TH 1002 FHH 4 FEAL—TH 1 % 8 5
At —TH 1673 % - 1 fEdE—TH 2 & 7 2
FHBAE—TH 1673 &M 5 aEde—TH 2 &F 9 22
FEAE—TH 1678 %H - 3 aAEdE—TH 5 & 2 2
fEsAk—TH 1685 1 AHdk—TH 5 & 6 - z
FEAE—TH 1773 FM - 1 fh aEdk—TH 4 F 28 B |1773%1, 17833, 1784%F 1785%
AEMAL=TH 2192 H/H - 2 FEAE=THE 1 % 16 5 1219274, 2194, 219471
FHAL=TH 2192 FH - 2 AEAE=TH 1 & 14 7 [k
AL FET B 1700 #HHL - 2 AEALETH 3 &F 2 Zl
AEACHT H 1758 i AEALETH 6 F 5 2
FEALET R 1770 & - 1 AEALETH 3 & 6 a
AEA—TH 854 i - 2 AEA—TH 10 % 5 =2
FHE—TH 860 & - 1 AFO—TH 11 & 16 2
A0 —TH 860 FHHL 3l aEA—TH 11 #F 18 5 |8603%5
FHE—TH 860 Fih - 4 FEO—TH 11 & 17 2
AEA—TH 982 FEih - 1 AEA—TH 3 % 51 =2
AHE = TH 938  FEih FAEMAZTH 1 % 3 2
AHOTTH 941 FHr 3 FEOTTH 1 % 1 5
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FEA=TH 155 %M - 1 FAEA=ZTH 6 % 1 i |156% 1, 15673, 15724, 15972
FEA=TH 229 FHL 40 AEA=TH 4 & 16 22
HF—TH 883 i - 7 WF—TH 6 F 11 l
WF—TH 883 it - 8 WF—TH 6 &F 12 2
HF—TH 883 i - 8 WF—TH 6 & 12 El
WF—TH 888 A - 7 WF—TH 6 & 11 il
HF—TH 920 FHL - 1l WF—TH 1 % 3 5 1920782
WETTH 137 & 2 il WE T H 3 % 10 5 |137F3D—E, 13775
WEZTH 139 EH - 2 WEZTH 3 F 6 2
R _TH 575  Fih HEZTH 11 % 15 =
WE=TH 778 b WE=TH 6 & 46 2
HF=TH 825 &M 1 HFE=TH 3% 24 22
WE=TH 826 FHH - 2 — HWHFEZTH 3 & 20 2
HEFEHTH 645 il i HEFEHRTH 2 & 24 = [650%

WFE_TH 723 L - 1 W TH 5 & 1 2
P T H 838 &M 33 P TH 9 F 13 5
AT H 680 HHI 4l FEHATH 4 F 12 5 168074, 68076, 680713
PEFEARTH 681 M - 1 FEFARTH 13 & 46 z
FEHFEZTH 2211 & D— e “THI /7 =2
PSS 1 F 2 FEME-TH 3 & 9 5
KRFVEF 1 FH 5 AEME_TH 2 F 1 22
KRFEF 16 & 4 FEEETH 1 % 36 2
RFPEF 16 & 10 FHEETH 1 & 6 - =
RFPEF 41 & 7 AHEMTE 10 & 9 2
RFPEF 42 o 2 AFBFEIUTH 10 & 6 =
RFPEF 42 & 3 FHEMTHE 10 & 7 2
RFPEF 42 FH# 5 FAFBFEINTH 10 & 8 =
RFPEF 48 FEiH 2 AEEEMTH 8 & 11 )
RFTEF 204 F 5 Ml FHBEEATH 9 & 30 T 2047 10 —H#F 204311
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RFPEF 204  EH 8 FEEATH 9 % 21 )
KRFVGF 204 &l 10 filt AEEATH 9 F 29 5 20634, 206755
KT F 211 &H 2 FAEHEATH 9 F 12 2
RFVEF 218 1 LHEEATHE 4 F 8 2

KT F 218 FEH 7 FAEHEATH 4 & 7 2
RFVEF 218 F 9 LEEATHE 4 F 5 il

KT F 232 &H 6 FAESMATH 2 % 5 2
RFVEF 233 F 5 LEEATE 2 F 9 2
PSR 233 FHh 6 fth AHHEATH 2 & 8 5 (23374
REFFEF 233 i 8 FHEEATHEH 2 &6 2
PSR 235 & 15 FAEMETH 11 % 30 2
REFFEF 239 &M 15 fHEETH 7 & 19 2
PSR 241 F/H 5 AHEETH 6 & 2 2
REFFEF 241 F 6 LT HE 6 F 1 2
RFVGF 241 F 7 AEEETH 6 F 3 2
R 241 FH 7 FHELETHE 6 & 13 =
RFVGF 2656  FHH 8 AEEANTHE 3 F 13 2

R 257 T 15 FHENTH 2 % 32 =
RFVGF 257 & 21 AEEANTHE 2 F 39 2

R 257 ML 22 FHENTH 2 % 38 =
RFPEF 257  Fi 24 FEENTE 2 F 37 =

RFWG 7 714 FEHb WE_TH 5 % 8 a
RFPEF 942 FHHL 24 A _TH 4 FT 2
RFPEF 942 T 28 AT H 5 & 22 2
RFHF 508 i WEZTH 13 % 15 2
RFHF 942 FH 14 FEFE_TH 5 F 9 2
RFHF 942 FHHL 16 AEE_TH 5 F 21 2
RFHF 942 FHh 20 FEHE_TH 3 &7 )
RFHF 948 L 1 A _TH 8 F 13 2
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RFHF 957 FE#h 6 fth AEBEEMTH 10 & 15 - 1 %5 [9577S, 4076
RFHF 960 i 3 AEEETE 5 F 14 2
RFHF 964 FEHh 15 fth FAEMH=TH 6 & 6 5 |t
RFHF 970  FHh 1 il AHEME=THE 6 F 15 5 (969713
RFHF 983 &M 17 FAESME=TH 11 % 13 2
RFHF 983 FHH 18 A =TH 11 & 4 il
RFHF 983 FEMh 19 fth FAEME=TH 11 F 12 5 |983%:24
REFATH 88 i fit AFANTHE 3 & 3 5 |897%, 9071, 937%
RFAHED 229 FEHL o 38 FAEA=TH 4 % 26 2
RFAH 285 FEFM 1 AEHE—TH 14 % 16 2
RFAHED 430 FEH 1 FER=TH 7 & 27 2
RFAH 439 FEH 4 FHR=TH 7 & 41 2
RFAHED 495 8 FER=TH 1 % 30 2
RFAH 498 FHt 1 FHE=THE 1 F 44 2
RFAH 498 1 AER=TH 1 & 45 2
KA 514 E 1 FHEATH 2 % 4 7 [oloR] SITAL 1981, 52081,
RFAH 521 1 AER=TH 7 & 35 2
KFAHB 526 7l 1 AER=TH 10 % 45 Zl
KRFAHB 553 & 1 il AEHRATH 3 F 9 o i
RFAHD 557  ZEih ik AEHFNTH 2 &F 31 5 |558%
RFAH 557 & AEHFANTH 2 F 32 2
RKFAHD 557 it FHEANTHE 2 F 33 2
RFAH 588 i AER—TH 4 % 16 2
RKFHHD 589  FEih AEH—TH 4 F 15 a
RFAH 590 i AHR—TH 4 & 14 2
KA 622 & 3 AEWE—TH 5 & 12 )
RFAH 627 FHL 7 AER—TH 2 & 28 2
RFAHED 628 FHL 1l FAER—TH 2 % 18 7 162971
KFHH 631 b 1 il AER—-TH 3 & 1 5 (6327, 64471, 6437, 64531
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KETHD 631 F 1 i mEA-TH 3 & 1 7 G G132, GALEL, 61473, 645
RFAH 637 FEih AER—TH 3 & 18 22
RFAED 641 L 2 AER—-TH 3 & 13 l
REFATH 641 FH 2 AEHR—-TH 3 & 14 B2
RFAHE 648 FEHL 1l AERTH 6 & 36 5 164874
REFATHD 701 FH 1 AER—-TH 1 & 14 2
RFAED 701 FH 6 AER—-TH 1 & 15 l
REFATH 703 1 AR —TH 1 & 5 B2
RFAHED 703 FHFHL 0 o4l FER-TH 1 % 1 5 |7037&5
KFFE 713l 1 AERTH 1 & 28 Zl
RFAHED 720 FHo 11 FER-TH 5 & 41 2
REFAiHD 720 b i LR _TH 5 & 45 72090 —H
RFAHED 854 FHEHL 2l AHEO—TH 10 % 5 5 185571
REFAiHD 901 AEEZTHE 1 F 23 2
KFAT 904 1t AWO-TH 5 & 29 - 190471, 90473
KA 943  FHr 1 FAEWMAZTH 1 % 50 5
RFAH 964 i 4 AEA—TH 4 & 24 2
KFAHB 967 il aEn—TH 4 % 36 z
RFAH 982 FH 2 A —TH 3 &F 50 2
RFAHD 996 FEHi 5 il dt—TH 6 % 10 - 13 5 [1014%2
KRFAHEB 996 b 6 AdE—TH 6 #F 10 - 14 &
KA 996 i 7 fEd—TH 6 &F 10 - 15 &
KRFAHEB 996 b 8 ade—TH 6 #F 10 -9 &
KA 996 & 9 fEdt—THE 6 F 10 -8 =
KRFAHEB 996 b 10 ade—TH 6 F 10 -7 &
KFAHD 996 FHL 11 faEdk—TH 6 &F 10 - 6
KRFAHEB 996 b 13 Afde—TH 6 #F 10 - 30 &
RFAHED 996 FHHL 14 AEIE—TH 6 & 10 - 21 &
KA 996 FH 15 fEdE—TH 6 &F 10 - 29 &
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RFAHED 996 FEHL 16 AEIE—TH 6 & 10 - 28 &%
RFAH 1000 & 3 AEdE—TH 6 &F 11 22
RFAED 1137 %&# 1 AEPRMTHET & 37 l
REFATH 1138 it 1 AP RETE2 F 10 2
RFAHE 1139 % 2 AEE=TH 1 % 1 El
REFATHD 1144 %M 3 AEE=TH 1 & 14 2
RFAED 1144 ZFHi 4 AEE=TH 1 & 15 l
REFATH 1144 %M 5 AEE=TH 1 & 17 B2
RFAHED 1144 #FH#i 6 AEE=TH 1 % 18 2
RFAH 1149 % AEE—TH 1 F 13 22
RFAHED 1162 % 1 FHPRIUTH T & 50 2
REFAiHD 1169 &t 1 fhh AHBRRAETALD & 20 W (116974
RFAHED 1175 %&# 3 AP RIUTHES #F 14 2
REFAiHD 1177 & 4 fh AR TA L & 10 W | 11797, 118173
RFAH 1177 ZFHh FEPRIMTHS 46 2
RFAHD 1178 FEH 1 AP RNTES & 45 2
RFAH 1210 & 4 fh AEPR—THS3 F 17 = |1365%3
RFAHD 1212 FHh AT R—TH4 % 15 22
RFAH 1286 & 2 fh FEPRIMTHES F 10 = |1287%6
KF-FHD 1286 &H 3 AR TH3  E 8 5 128635
RFAH 1310 %M 5 FEPRIMTHES 53 2
RS 1321 #FH 1 AT H2 & 54 2
RFAH 1372 FHh ahR—THS3 #F 53 - 2
RS 1404 FEH 1 AR THE & 1 2
RFAH 1404 M 1 FEPRUTHEGE F 2 2
RS 1410 #FH 1 AT HS & 5 2
RFAH 1417 &M 1 FEPRMTHEGE 41 2
RFAHED 1417 %FH# 5 AEPARMNTHEE F 1T -1 &
KFHH 1417 & 8 AP RNTHREE &F 1T - 4 &
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RFAHED 1418 % 1 FAEFRMNTHEE & 19 2
RFAH 1418 &M 1 A RUTHEE & 20 22
RFAED 1419 % 1 AEPRMNTHE & 27 l
RFAHE 1437 FEHh it AR RUTHES & 21 5 (1438%
RFAHE 1498 ZF# 1 fil e —TH 2 & 14 5 |1499%10, 149911
REFATHD 1499 &M 1 aEE—-TH 2 & 8 2
RFAED 1499 %&H 5 e —TH 2 &7 l
REFATH 1499 %M 6 aEE—TH 2 & 6 B2
RFAHED 1499 %&# 7 e —TH 2 & 5 2
REFAiHD 1499 FEHt 8 fHE—TH 2 & 2 2
RFAHED 1501 & 1 fEE—TH 9 #F 14 2
REFAiHD 1502 &FH 2 fh fEBE—TH 9 & 39 = [1503%:2
RFAHED 1502 %&H# 5 fEE—TH 9 & 50 2
REFAiHD 1502 &H 6 fEBE—TH 9 & 49 2
RFAH 1503 %&H# 3 AEE—TH 9 & 48 2
RFAHD 1503 Fih 4 aEE—TH 9 &F 47 22
RFAH 1518 &H#H 2 AEE—TH 11 & 24 2
RFAHD 1518 & 4l FEE—TH 11 F 30 5 |1519%3
RFAH 1521 %&H# 3 AEE—TH 10 #F 20 2
RFAHD 1521 FHh 4 AEE—TH 10 & 21 22
RFAH 1521 FHM 5 AEE—TH 10 #F 22 2
RKFAHD 1521 & 6 aEE—TH 10 F 23 a
RFAH 1521 FM 7 AEE—TH 10 & 25 2
RKFHHD 1521 FH 8 aEE—TH 10 F 24 a
RFAH 1521 %M 9 AEE—TH 10 & 26 2
KFAHD 1521 & 10 aEE—TH 10 F 27 a
RFAH 1572 %M 3 AEE=TH 2 #& 2 2
RFAHED 1572 &H 4 FAEE=TH 2 % 73 2 1(%%ﬁfgﬁfg%4%§ﬁ%2%§c: EE
RFAHD 1572 %M 5 AEE=TH 2 & 72 52
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RFAHED 1572 % 7 FEE=TH 2 % 4 2
RFAH 1699 &M 1 AEAELTH 3 &F 1 22
RFAED 1743 ZHh FEAEITH T & 7 l
REFATH 1765 FH 3 AEAEETH 3 & 4 B2
RFAHE 1930 % 1 AEETH 5 F 11 El
REFATHD 1955 Zh AEE=TH 7T F 12 2
RFAED 1964 ZH A TH 8 % 8 l
REFATH 2007 i 1 AEE=TH 6 & 14 B2
RFAHED 2007 FHH 1 FEE=TH 6 & 15 2
REFAiHD 2009 FH 2 fh AHE=TH 6 & 11 = 20113
RFAHED 2012 b fitu FEE=TH 5 & 9 5 1201271
REFAiHD 2019 Fih 4 FEE=TH 5 & 38 2
RFAHED 2024 Ty FEE=TH 7 & 2 2
KFFE 2187 FHEih AEA=TH 1 & 21 =2
RFAH 2196 T AEAE=TH 1 & 10 2
KFAHB 2196 AEAE=TH 1 #F 11 z
RFAH 2212 FHL 18 AEAE=TH 2 & 30 2
RFAHD 2622 FHih ik FEETH 10 F 3 5 |26227%1
KA 2647 FHn 1l AWE_TH 10 F 31 5 |2648%
RFAHD 2664 FHt 5 AEETH 11 & 34 Zl
RFAH 2664 FH 6 AEETH 11 & 35 2
RS 2664 FH 7 AHE_TH 11 & 37 2
RFAH 2664 FH 8 AEETH 11 #F 36 2
RS 2672 &FM 5 AHE_TH 11 & 10 2
RFAH 2672 FH 5 AEETHE 11 &F 1 2
RS 2674 o 4 AHE_TH 12 & 12 2
RFAH 2675 FH 4 AEE-TH 12 #F 15 2
RFAHED 2676 4 FAEE_TH 11 & 30 2
RFAHD 2706 i 1 AEE—-TH 8 & 36 22




FERRTIEHARER (BHE) ([FERRTERE~SMIFEIAI1BET

IH{ AT (FH 6 H) BERT (EEFR) {5

RFAHED 2706 FH 2 FAEE—TH 8 & 12 2
RFAER 2714 b 2 AEE—TH 8 &F 29 5 (271531
RFAED 2752 T A —TH 14 % 11 l
REFATH 2761 Fih 1 aEE—-TH 13 #F 23 =
RFAHE 2766 i 1 A —TH 16 & 15 El
REFATHD 2766 FH 17 AEE—TH 16 & 11 =
RFAED 2766 FHL 18 A —TH 16 & 12 l
REFATH 2766 FHL 19 aEE—TH 16 & 13 =
RFAHED 2797 FHL o 20 SORE=TH 7 F 24 2
REFAiHD 2798 FHh 3 FRRETH T 0% 10 2
RFAHED 2809 FHL 13 FRKTTH 10 F 2 2
REFAiHD 2826 &M 29 i tH—T"H 5 & 8 2
RFAHED 2826 FHHL 33 fi i —TH 5 & 12 2
RFAH 2826 FHL 52 M~ TH 4 F 37 =
RFAH 2826 FHHL 61 M= TH 4 F 11 2
KFAHB 2826 114 M =T H 3 % 8 Zl
RFAH 2826 & 135 M= TH 3 & 35 2
RFEAE 2826 FH 144 M =T H 2 F 13 5
RFAH 2826 FHHL 154 M= TH 8 & 2 2
RFEAE 2826 ‘M 178 fi FH T H 14 % 29 5 |4847%
RFAH 2826 FHHL 179 M —TH 14 % 31 t=3
KA 2826 FEHr 191 FH T H 9 F 12 )
KEAT 2826 /i 217 fi M T H 7 % 22 5 128267218
KA 2868 i 2 AEE—TH 5 & 1 )
RFAH 2887 i FEPR=TH14 F 12 2
KA 2978 Fir 1 b FH T H 14 % 27 5 |2943%2
RFAH 2978 FHHL 3 Al =T H 14 % 28 5 1294373
RFAHED 3053 FEih W =TH 2 F9 2
RFAER 3063 b 1 il AR R=TRHI12 & 7 5 [3063%5




FERRTIEHARER (BHE) ([FERRTERE~SMIFEIAI1BET

IH{ AT (FH 6 H) BERT (EEFR) {5
RFAHED 3063 FEih FEPR=THI12 & 5 2
RFAH 3070 i FEPR=THS &F I7 22
RFAED 3099 FHH 2 FAEPR=TH9 % 6 l
REFATH 3099 i 3 AP R=TH9 F 5 2
RFAHE 3100 FHt 16 it —TH 3 & 21 El
RFAE 3100 i 66 [ H—T1H TO%k T =
RFAED 3100 FH 70 it —TH 7 % 3 l
RFAHE 3100 L 76 [ HH—T1H 8 &7 =
RFAHED 3100 FH 77 M= TH 1 F 1 2
REFAiHD 3100 & 80 M= TH 1 % 16 2
RFAHED 3100 FHFH 81 M= TH 1 % 18 2
REFAiHD 3185 & 10 i AP RETET F 1 5 |35
RFAH 3186 HHL 7 il ATFR=ZTHT F 3 |4
REFAiHD 3190 & 3 fHBHR=TAHT & 9 2
RFAH 3205 it i FEPR=ZTHS3 & 8 W |3206%
RFEAE 3292 F/HL 2 FEHRRTZTHT & 4 5
RFAH 3292 FHL 10 FEPRTTHES F 24 2
RFAHD 3331 1 TR TH 6 & 18 =
RFAH 3331 FHL 59 FRE—TH 5 F 10 2
RFEAE 3331 ‘M 69 FHRK—TH 5 F 19 5
RFAH 3331 FHFH 93 FRWTTH 1 % 13 2
KA 3331 &M 109 FRK—TH 4 F 19 )
RFAH 3403 i AEHRTTHES #F 1 2
RKFHHD 3555 i 4 FRR—TH 3 % 3 a
RFAH 3829 FH 3 FkRK—TH 7 &F 14 2
KA 3829 & 5 FRK—TH 7 F 18 )
RFAH 3829 FHH 10 FkW—TH 7 F 23 2
RFAHED 3829 FH 11 FRR—TH 7 &F 24 G
RFAHD 3829 FHH 14 FoRR—TH 156 & 12 52




EERTIBFT AR (AR hiE)

EFERRTERRE~FMIFIAZTHET

IH{ AT (FH 6 H) BERT (EEFR) {5
RFAHED 3829 FHL 40 FRR—TH 14 & 7 2
RFAH 3829 FH 41 FRE—TH 14 % 8 22
RFAED 3829 FHL o 42 il FRE—TH 14 F 9 5 |3828%2
REFATH 3829 FHEH 49 FokR—TH 13 & 20 =
RFAHE 3829 FHL 50 FoRE—TH 13 F 21 El
REFATHD 3829 FHh 54 FoRR—TH 13 % 4 2
RFAED 3829 FHL 56 FoRE—TH 13 F 7 l
REFATH 3829 FHh 58 FoRR—TH 13 & 10 =
RFAHED 3832 FHHL 33 FRE—-TH 7 F 1 2
REFAiHD 3832 &M 39 FRR—TH 7 F 7 2
RFAHED 3832 FHHL 63 FORE—TH 8 #F 5 2
REFAiHD 3832 & 87 FRK—TH 9 & 5 2
RFAHED 3832 FHHL 104 FRK—TH 11 F 9 2
REFAiHD 3837 FH 5 FRK—-TH 6 % 8 2
RFAH 3837 FHHL 15 FRE—TH 7 F 30 2
KFAHB 3928 FEH#t 6 LA E—TH2 & 19 z
RFAH 3928 FH 6 AEPE—TH2 F 22 2
RFAHD 3941 FH 7l HOF—TH 18 &F 12 5 |3943%4
RFAH 3941 FH 11 HOH—TH 18 F 7 =
KFAHB 3962 il 1 AEENTH 14 % 16 z
KFEHS 3962 FHHr 4 b FEHFNTE 14 F 10 5 1396377, 396378
RS 3962 & 5 FHHRNTH 14 & 11 2
KRFAHEB 3962 Fih 6 AERENTH 14 F 12 B | A 39628 12107
RS 3962 &Fi 7 FHRNTH 14 & 13 2
RFAH 3962 FHh 8 AEHRNTH 14 & 14 2
RS 3962 & 9 FHRNTH 14 & 15 2
RFAH 3964 FH 2 FEHRNTHE 14 % 8 2
RFAHED 3966 FHL 14l FAERANTH 14 & 84 7 13978% 1
RFAHD 3967 i 1 FEEANTH 14 % 4 22




EERTIBFT AR (AR hiE)

EFERRTERRE~FMIFIAZTHET

IH 3P (R &6 M) FHERT (EJE£RTR) fii %
KFFHD 3967 FiMt 5 FEHRANTH 14 & 5 z
KFAH 3967 FH 11 FHENTH 14 & 9 2 i’?‘f%ﬁ%ﬁi%‘g‘?§?3&\396@
KRFAHB 3972 FH 1 FAEHRNTH 14 %F 3 Zl
RFAHE 4013 FHh 1 LEENTH 2 F 27 =
KRFAHB 4133 FH 3 BOHF—TH 4 F 13 Zl
RFAE 4143 3 HOHF—TH 3 F 12 =
KRFAHB 4192 FHL 20 HOHF—TH 10 F 25 Zl
RFATH 4192 H‘H 54 HOHF—TH 9 & 4 =
KRFAHB 4207 FHr 26 BOHF—TH 17 F 23 i3
RFAH 4207 Fh o 33 HO/—TH 9 F 5 2
KRFAHB 4207 FHh 35 BOHF—TH 7 F 9 i3
RFAH 4210 Z&# 2 HO/—TH 7T F 12 =
KRFAHB 4210 FHr 15 BEOHF—TH 9 F 9 i3
RFAH 4210 K 19 HO/Z—TH 9 F 19 2
KRFAHB 4210 FH 25 BOHF—TH 13 F 10 5
KFAES 4210 FHL 34 HOHZRTH 8 F 11 3=
KRFAHB 4210 FHr 40 BEOHR-TH 9 F 22 5
KFAES 4210 K 48 EO/ZRTH 9 F 11 3=
KRFAHB 4210 FHr 60 BEOHR-TH 11 F 22 5
KF-FHD 4215 FH 6 HO/RTH 8 F 26 =
KRFAHEB 4276 FHL 3 BOF—TH 156 &F 17 =
KFFHD 4289 FHh 18 BOHR_TH 3 F 18 5
KRFAHEB 4289 FHHi 38 HEOZRTTH 16 & 9 =
KF-FHD 4289 FH 75 BOHR_TH 15 F 19 5
KRFAHEB 4289 FHHL 82 BEOZRTTH 14 & 9 =
KF-FHD 4289 FHh 88 BOHR_TH 5 &5 5
KFHH 4289 90 HOHFR_TH 5 F 2 2
KFFHD 4321 FH 1 AHREETH 5 F# 17 Z
RFAER 4330 FHL 2 AERETH 5 F 25 >




EERTIBFT AR (AR hiE)

EFERRTERRE~FMIFIAZTHET

IH{ AT (FH 6 H) BERT (EEFR) {5
RFAHED 4446 FHh FAER—TH 10 & 21 2
RFAH 4487 Fh AER—TH 9 & 18 22
RFAED 4505 1 FAHHPRTHL F 26 l
REFATH 4521 Fh fit FEPRTHEL 16 5 |4521%1
RFAHE 4525 1 AR —THS & 38 El
REFATHD 4525 F 2 A R—THS & 39 2
RFAED 4533 FMh AHFHPRZTHL F 10 l
RFAHE 4571 b 2 AR RUTHE2 & 40 5 (457133
RFAHED 4598 FHEHL 16 Al AEPR=TH 12 & 40 5 |4598%17, 4598718
REFAiHD 4645 Fi 2 fBE—TH 3 & 27 2
RFAHED 4652 b e —TH 8 & 19 2
REFAiHD 4725 FHHh i LT H 10 & 33 5 26497
RFAHED 4738 i 1 FEETH 2 % 6 2
REFAiHD 4751 & 1 fth A TH 1 & 4 5 (47537
RFAH 4753 T AEE-TH 1 & 5 2
RFAHD 4764 FH 3l ST H 1 & 10 5 |4765%3, 476633, 4767%6
RFAH 4822 FH 7 EHRKTTH 12 F 3 2
KT 4822 Fh 17 FORRTH 12 & 16 22




